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Answer key 

Comprehension 2 

1 the Rio Carnival 

2 (i) black bean 

 (ii) rich 

 (iii) potato chips 

 (iv) sweet 

3 i) drums 

 ii) shakers 

 iii) cowbells 

 iv) whistles 

4 i) T 

 ii) NG 

 iii) NG 

 iv) F 

5 D 

6 i) (a lot of) money/over 30 million Hong Kong dollars and (a lot of) time/many months 

 ii) There is a prize for the best float./They want to win the prize. (any reasonable answer) 

7  traditional food 

8 C 

9 The writer does not think it is easy to go to Carnival because he had to book his hotel room 

and buy tickets to the Samba Parade very early. 

10 C  

11 i) B 

 ii) C 

 iii) D 

 iv) A 

12 (i) traditional (iv) elements 

 (ii) native (v) ornamented 

 (iii) fusion 

  


